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NEW QUESTION 1
What is an advantage of designing an out-of-band network management solution?

A. In the event of a production network outage, network devices can still be managed.

B. There is no separation between the production network and the management network.
C. In the event of a production network outage, it can be used as a backup network path.
D. It is less expensive than an in-band management solution

Answer: A

NEW QUESTION 2

Which OSPF area blocks LSA Type 3, 4 and 5, but allows a default summary route?
A. normal

B. stub

C. NSSA

D. totally stubby

Answer: D

NEW QUESTION 3

When a first hop redundancy solution is designed, which protocol ensures that load balancing occurs over multiple routers using a single virtual IP address and

multiple virtual MAC addresses?

A. GLBP
B. IRDP
C. VRRP
D. HSRP

Answer: A

NEW QUESTION 4
An enterprise customer has these requirements:

> end-to-end QoS for the business-critical applications and VolP services based on CoS marking.
> flexibility to offer services such as IPv6 and multicast without any reliance on the service provider.

> support for full-mesh connectivity at Layer 2.
Which WAN connectivity option meets these requirements?

A. VPWS

B. MPLS VPN
C. DMVPN

D. VPLS

Answer: D

NEW QUESTION 5
Which design consideration must be made when dual vEdge routers are deployed at a branch site?

A. Use BGP AS-path prepending to influence egress traffic and use MED to influence ingress traffic from the branch.

B. HSRP priorities must match the OMP routing policy to prefer one vEdge over the other.
C. Traffic must be symmetrical as it egresses the vEdges and returns from remote sites for DPI to function properly.
D. Configure BFD between vEdge routers to detect sub-second link failures.

Answer: A

NEW QUESTION 6

What is one function of the vSmart controller in an SD-WAN deployment?

A. orchestrates vEdge and cEdge connectivity

B. responsible for the centralized control plane of the SD-WAN network

C. provides centralized network management and a GUI to monitor and operate the SD-WAN overlay
D. provides a data-plane at branch offices to pass traffic through the SD-WAN network

Answer: B

NEW QUESTION 7

Which solution allows overlay VNs to communicate with each other in an SD-WAN Architecture?

A. External fusion routers can be used to map VNs to VRFs and selectively route traffic between VRFs.
B. GRE tunneling can be configured between fabric edges to connect one VN to another.

C. SGTs can be used to permit traffic from one VN to another.

D. Route leaking can be used on the fabric border nodes to inject routes from one VN to another.

Answer: B
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NEW QUESTION 8
Which nonproprietary mechanism can be used to automate rendezvous point distribution in a large PIM
domain?

A. Embedded RP
B. BSR

C. Auto-RP

D. Static RP

Answer: B

NEW QUESTION 9
Which two statements describe source trees in a multicast environment? (Choose two.)

A. Source trees guarantee the minimum amount of network latency for forwarding multicast traffic
B. Source trees create an optimal path between the source and the receivers

C. Source trees use a single common root placed at some chosen point in the network

D. Source trees can introduce latency in packet delivery

E. Source trees can create suboptimal paths between the source and the receivers

Answer: AB

NEW QUESTION 10
In an SD-WAN architecture, which methods are used to bootstrap a vEdge router?

A. DHCP options or manual configuration
B. vManage or DNS records

C. ZTP or manual configuration

D. DNS records or DHCP options

Answer: C

NEW QUESTION 10
When IPsec VPNs are designed, what is a unique requirement if support for IP Multicast is required?

A. encapsulation of traffic with GRE or VTI
B. IPsec forwarding using transport mode
C. additional bandwidth for headend

D. IPsec forwarding using tunnel mode

Answer: A

NEW QUESTION 14
Company A recently acquired another company. Users of the newly acquired company must be able to access a server that exists on Company A’s network, both
companies use overlapping IP address ranges. Which action conserves IP address space and provides access to the server?

A. Use a single IP address to create overload NAT

B. Use a single IP address to create a static NAT entry

C. Build one-to-one NAT translation for every user that needs access
D. Re-IP overlapping address space in the acquired company

Answer: A

NEW QUESTION 16
Which design consideration must be made when using IPv6 overlay tunnels?

A. Overlay tunnels that connect isolated IPv6 networks can be considered a final IPv6 network architecture.
B. Overlay tunnels should only be considered as a transition technique toward a permanent solution.

C. Overlay tunnels can be configured only between border devices and require only the IPv6 protocol stack.
D. Overlay tunneling encapsulates IPv4 packets in IPv6 packets for delivery across an IPv6 infrastructure.

Answer: C

NEW QUESTION 18

An engineer is working with NETCONF and Cisco NX-OS based devices. The engineer needs a YANG model that supports a specific feature relevant only to
Cisco NX-OS. Which model must the engineer choose?

A. Native

B. IEEE

C. OpenConfig

D. IETF

Answer: D
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NEW QUESTION 21

An engineer is designing an enterprise campus network. The LAN infrastructure consists of switches from multiple vendors, and Spanning Tree must be used as a
Layer 2 loop prevention mechanism. All configured VLANs must be grouped in two SIP instances. Which standards-based Spanning Tree technology supports this
design solution?

A. MSTP
B. RSTP

C. Rapid PVST
D.STP

Answer: A

NEW QUESTION 22
Drag and drop the characteristics from the left onto the correct telemetry mode on the right.

The collector initiates a session to Dial-In
the device
supports TCP, UDP, and gRPC
The device initiates a session to the
collector :
Dial-Out
supports gRPC only
A. Mastered
B. Not Mastered
Answer: A
Explanation:
In a dial-in mode, the destination initiates a session to the router and subscribes to data to be streamed. Dialin mode is supported over gRPC in only 64-bit
platforms

In a dial-out mode, the router initiates a session to the destinations based on the subscription. All 64-bit IOS XR platforms (except for NCS 6000 series routers)
support gRPC and TCP protocols. All 32-bit IOS XR platforms support only TCP.

NEW QUESTION 27
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